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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt any five questions.

All questions carry equal marks.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. Explain the shape of the Production Possibility Curve using the concept of
opportunity cost. Explain the factors responsible for shift in PPC. (15)
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2. (a) Distinguish between movement along the demand curve and shifts in demand

curve.
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(b) What are the basic implications of a ceiling price and floor price fixed by the

government in a competitive market ? (7%4,7'%)
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3. (a) Distinguish between price elasticity of demand and income elasticity of
demand.

(b) Prove that the elasticity of demand varies from point to point on a straight

line demand curve. (7%,7%)
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4. (a) Draw an indifference curve and explain how price effect is sum of substitution

effect and income effect. If there is a fall in the price of a normal commodity.

(b) Show how you can derive a demand curve with a help of an indifference ‘

curve and budget line. (7,8) ‘
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5. (a) Explain equilibrium of the firm with the help of isoquants and isocost lines.

(b) The following table given total output or total product as a function of labour

units used :



5157

Labour Total Output
0 0
1 15
2 19
3 22
4 24
5 25

Does the table indicate the situation of diminishing returns ? Explain your

answer.
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6. (a) Explain the relationship of different cost curves in the short run. Why is short

run average cost curve U-shaped ?

(b) What is the relationship between MC and AC ?

(10,5)
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7. Derive short run supply curves for the firm and the industry in a competitive
market. (15)
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8.  Write short notes on any two :
(i) Cross elasticity of demand
(i) Diminishing Marginal Rate of Substitution.

(i) Shut Down point of a firm in a competitive market.
Economies of Scale (7'4,7%)
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